[image: image1.jpg]Required:

L Compue e company’sbesk-xen point i maber o s a1l s ol

21 IFhe varale experss et e inccase a4 prertags of the <lig rice, il i el
i igher or  lower bk eve point? Why (e il the fived expemes remai
nchanged)

5 A prsca. shecompany i eling 5.000 onieraspe . The sl e i convined
08 107 reduction n e sl pric il s 3 25 et e s of s
sl cach month. Prpare o contrbuion acome temens, o undse prsent operaing
condiions. and on . oprtions wonld ppser e h Teopod chnses, Show b ol
and et i ot o s Smens.

4. Refer o th data 1 (1 abone. How many e would have 0B ol the e selng
P 10k i ntopeatng ncome of ST g ot

EXERCISE 64 Operating Levcrage [104,105)
Superor Do Compan sels peehung dooe o o biers. The ds s s1d for 360 e,
Viriablecuts e 12 por do, e conts sl SIS0 e The company b ey
seliog 3000 dooe er s
Requiet:
1. repare  comviuicn ormat income sccment o he compeny t the present el of sl
and ompute e e ofcpesin leverg
2 Management s confdent e company cn el 37,500 doors e car (a s of
7500 dours, o1 5 oer cumen ko). Compute the eloing:
u Thecupeced perentge ncrease s o opeain icome o ety
b oot s do gz —
RN s e 551 f pertin e 1o Comput: Your s

EXERCISE 6-8 Muldproduct Break-Exen Anayss (L09)
Ok Eatrpriss sls ko prodoet. Model 100 i el B500. Montly s and the con
b macgi s o 1 . o ol

 prodw
Wodel A100  Model BS00 ot

Swis S700000  Sono00 51000000

Contibution marg o o 700 ”

Thecompany's s espens il 598,500 per moat,
Reqired:

1 pepare an income st o h company 554
Compute the bk i o he compsrs e an e et s i
T8l s by SO0 per month by o, hach vl S evpct s opsrin o
o mcrass? What s Your Samprions”

e the formaeshown i Exhiic

EXERCISE. 6-6 Brak-Exen Aty Target Profit; Mg of Safy:
NI Rato (101, L0 1.05.1.06,107)
Prinle Compans el gl proct.The compan's e s expeses o s ot ol

Total  per Unit

saes 5600000 840
Less varaol eipensis 20000 2
Contibution margn w000 S
Less e sponses. 150000
Nt opeatng acome. S300

Requied:
1.7 What i the oy B ot it ol nd sl s




[image: image2.jpg]4. Refer o the origimal data. Compute the company's mirgin of safety in both dollar and per-
conage .

5. Wit hecompany’s CM sio? I oty sl ncese by S50.00 d there s nochange
in T cxpeco by o o would youcxpect ooty ne peraingicome 0 neesse!

EXERCISE 6-7 Break-Even and Target Prafit nalysis (LO3, 103, L0S, LOG]
Super Sl Company 5 th excliv dtrbwor for & etouionry bookbae The produc el
o S50 per it d s 3 C oo of 0% The company’ s exprsesa S360.000 pe st
Required:
1. Wt the il exnsesper i
2 Using th cqution medho:
oWt it ek ven poin i s and i sles dllns?
Wi fs ol it and s Gl eed o am an s prf o $0007
& Assume it rvus ot il the sl he SuperSaes Compiny s e
{0 educe s saible cxpene by $3 pr . What s the company e beseven
ot it ond n e dolhes?
5. Ropeat (2) shove i hecomebuion margin mehod.

EXERCISE 6-8 Missing Datas Basic CVF Concepls [LO1. LO9)
il e i ot i of e igh e huationselow. Exch ca s independen o
e bt (Hint: One iy 1T the iz amount ovld e 0 prpase a conbcin ncome
Semen o ach i, et the Kno it i hen comput e misin s |

" Resn st ol oneprcct e 51 e o he (ou ol wing cos sions

Gonrbution operating

unis Vadiable  Wargin | Fixed Income

Cass  Sod Sues  Expensas porUnit Expenses {Loss)
To.. o0 70000 Sie20m §7 S0 § 2

2 2 Casoom 0 5 w0 4000

30l wom 2 a0 6 2 oo

407 som  teom 7 i o0 (12000

. Assume st mons tha e procuct g 0 n ech f e four Following s stions

Average. Net

Contrbution perating

Varisble  Margin | Fixed Income

Case  Stes  Expnsss (Porcent) Expenses  (Loss)
T ses00m 5 7 W87 s
20 oo g0 2 sow 7
a 7 ? m amow s

a0 soom w0 7 2 05000

PROBLEM -9 Busics of CYP Analsi Cost tructure (L1, 03, LO, LOS. LOG)
Mol Inc . produces memors cahasscrent ki for fx mochins, Sl e sery e
it some o, Showina & rofi  sone s showio 1 foss. The companys ncome
e o th ot ecen i v bl

Sales (13,500 unts 2 520 porur) 5270000
Cess varabls expansis 189000
Controuton maign 51000
Loss foed expanss. 0000
Net peratng oss. )

Problems |

%E‘



[image: image3.jpg]RopeE,

11 Compute the company's Lt s rsakcven o i ot s nd dollars

2. The ks manager st an 35000 ncrase . the martly aeriing b onbined
e ffon by the sales sff, il esul i 70000 ncrane 1 oy seles.
14 he sl managr i igh, whot il b he ot onth company' monibly et opwting
ncome oo U h incrementlappecnch i preparin vouranswer

3. The presient s convineed it 10% Feducton n th scling prie, comind wih an i
s o 15000 i the oty advertsing et will cause it e 10 double What wil
B e incom sotemen ok ke i s e e sdoied”

4 Relertohecfnal data Th companys g seney hinks e pkage vl
el The e pckige bein pnposesd would nrese packaging oss by 800 e i
Assuin e changes. o many s wowld R o b sold 6 ot o rof
oS

5. Refe i th rginal dota. By utomaing s pertions, theconpany conld slash s var-
e expenses Bl Hoaxer, find cots would s by 118000 e mon
. Compute the ew CAL1aioand e e b v point i o ut nd ol
i Acume . th company epects 1o xl] 0500 s net ot Pepue s o

S, on S it oy o oS ok s ot hy e
. ol You scommerd thi h company St s operaions? Exp

PROBLEM 6-10 Basic CVI"Analsis; Geaphing [LOL 02,104, LOS|
Stats Unlimied pertes i af shi ores roun h couny. The sores camy many syl
ittt skd (e sameprice. To ecourags i persnil 1 b agresse 1 (h
s el e compny s & substntia e v o sach < S0 s perrmel
s ssive ol B sy

The folloing workshae sontin ost a5 e s o i
o he Sompans . et

56 Thee itk e it

P e T
e
SEaeir rmes o wa

Shis i iy e organizio, The compny b ashed ou. - memberof s

LD 0. 04551 s i i of S and company Pl

Requia:

1 Culluta he amna s pin i dolar sl and i i sl for S 36

2 Prepore s CVP araph chowing ot and esenas ds o o 3 o a2 e of vty
P10 30,000ty s coch . Cleely it he brshcv it o e i

3. 119000 ins e ol i scar bt would b Sihe 65 e peraing o or o

S Thecompuny comiderin pving the o ameraf Store 36 mecnine commiso o
3 por i adlon o e sesersanscommucins 1 1 s chunge . ot il
e new bk cven poin n dolla-ale s it sle?

5. Refer ot rgisl dta A an aliermtive 1o 4) b, e company i sonsiering poying
e on e a 53 commison o st ok n cxceo o o ek <reh ot 1 s
hange i . what il b 1o SCre's et opeetin income o s f 23300 i v s




[image: image4.jpg]Assume that the venture is underiaken and an order is placed for 200 steins., What would be-
i M ek ven o it s e dlrs? Shov omputtions v xplia
{he sesoning bind ot snswer

PROBLEM 6-17 Sals Mix; Bresk.ven Analyis Margi f afety [LO7,1.09]
Fulea Ml § A, company ot i Tled, S, minufstuesand e o el of
Tumurcly khed uley— s Bizan Prest e, ost. 10 sl 5t 0 e 4.
ot spearbeon. Al ey Siounis s St n o of Sponih pseas 2. 400 s
epsents 30 Spanih st

Avaro  Bazan
Salingprice porurt i00pes  800pias
Varabl oxpenses pe un 2i0pas 12008
Numbar of it sod menily 20uns snints

Ficd xpenses s 66000 s e ot

Requied:
1 i he s i sboe.d e ollwing:
& e comution income et showing b Pescts and escent <ol for
cachprodictand e company . whol.
5 Compute he bes-cve pint n pesta o hecompans a4 ol and he i o
iy i b s nd s of s
2 The compuny s dclopd e prodoct,Cao, hat hecompary plans sl for 00 s
i, AL rice e opsny xpecs 1 00t pes o of he produce.The vaible
epens wold b 0 e o7 . The o £
e, ntain the Cano prcc s of he

st producs e o e
. Computc he compiny i b even i i pesta o e company - whol
e o margin f sl ot gt nd et of s
3. T precdent o the compy waw puszed by sour amlsis. He td ok undersind why the
reab-cuen poin i g even hough er hs e et e s and e -
o o h e PRt s e ol Cotribtion v, Expli 10 hepres ot
s s mappened

PROBLEM 6-18 Various C¥P Questons: Break
{LO1, LO3,LOS, LOS, 106.1.08]
Tuene Pt anulactre. ecrestional uipm<n. e of e onmpany prodocs. kit
i el for 37,50, Tht sktchandsare manpftoed 14 gt it i el
o diret o sorher, Thas, bl coxs e Hih. il 522 1 et coard

e h st year e oy sld 000 sk i hs Folow g perting rsals

¢ Cost StructuresTarge Sles

Satos (40,000 sateboaras) 1500000
Less varaok sxponses. 00000
Contibution margin w0000

Lot xed cxpenses
Net peratns ncomo.

Mamgernentsanious o maitinamdpshaps e improve s pesens v of ncome fom the
Sotebosds.

Require:

1 Compute ()t CM i und the bk exen poin  skaebesrls, and () hedegr of p-
i leveage s s e  vel of sl

et e i or e, he companyesimaes (i il costs il s by 53

et ot net e, 1 s change ks lace andthe selivg price per sktehand -

in contant ¢ 537,30 3 will b the s CMI o e he e bk poit n

Satchours?
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Loss variao oxpenses. sa0000
ontibuton margn 200000
Loss foad expanies wzom
Nt operating ncome. Sa0000

The sty i bich Friden Company perte i g ensise o csical moscments i he

Sconoms. Thus, rofits varyconsrsbl oty 0 Yaracconing o 36l ccononis ol

Viom. The company i lrge smount of ol copcity a1 ST Wy o oo

pofis

Requiet

1 New cqipment s come an e market that ol o Friden Compans 0 st
porion f S o Varabs ot would b s by 6 et . Howen . 6l ok
ol e 0 16l o 332000 cah month resrs i GOmAa- e come s
et ons shoing prcsent ertions 4 ahe Showing i opestion, oo ppei i he
e equipment s prchase. S an Amount o, o Uit column, and Pl
o s, Dot ho persetsge or s e cont

2. Refortohemcome et 1) o For both st opesions i the peogosd s
operions, Sompu 1 he dree ofoperain leverage, 41 Bresh e ptot i delr
e e marsin o sy n o dllar e e,

5. Refr a0 the ot (1) Shove, A< mansger, what facto would b paramount i your
i i dciding whehet 0 prshi h b P Yo o s it anpls G
St maible o mibe th e

4 Relortohe il s, ¢ e i pShas s apircr v

Ll b ot ot .t e prsient xS

hat s would e S0 S ot et cpertng ncome would ncese by
o, Fod cots would e s 1 ol 1600 per movth, Using the prsent«
cimats, compute e ed-even poin i dollars o the company fc he chunge i o
Keting . What sk n ou s he pesdent’ ropnal”

PROBLEM 6-21 Sales Mix Mulproduct BreskcExen Anayss [LO9)
Topper Spors, I o h-guslty sport cquipen. T copanys ockeDrisin i
it e e ket — e Stadard, e DERR o P s Nl b ot

“Seur . Seesed nfomaton o th sckts i Bl
Sandard  Oaxe  Pro
Seiing prico por racket S000 000 53000
Varao oxpenses par ackar
Eroducon 2en oz ww
Sling (5% of seing pice) 200 300 450

ol e e g the cmpsny st . The Racho Do s he fll
e o

Per ontn
Fieaproducton cots S20000
Advertsng espense 100000
Adminssbes saiaes 000
Tott seroom

Soes i i, ove th st s e een s follows

Sundors Dolxe  Pro  Towl
s 200 1000 5000 8000
iy Bom 100 300 12000




